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VSU(2)

h3
∼ NSU(2) 0541
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�	 3.2

� �� 	�� � � *� &� � � �F �+ "' � K > L � � �� 	 �� � � � N � � � � �� ' � ��F�F �� �! % �# � � 5
�� � �� � & �� � M N O � <�� 9 � � *� 
# ; 0�� # � � =� 8 ) > � �� � �� �� 	1 (θ, φ) �+ "' �  �
�� La �� �: �� �� #&�� ?�&#& �� �� *�� #MZ ` F �+, �� �)� � �� �N�� �� � ��� 	

*
�%� <��M)� 
@: � Y+R��R �� � ��� 	 �� ����& �� ���MNO� x�UZ �� 	 
�+"'� ���)� 0361 � 091 	 

L1 =(− cosφ cot θ) pφ + (− sinφ) pθ +
cosφ
sin θ

pψ,

L2 =(− sinφ cot θ) pφ + (cosφ) pθ +
sinφ
sin θ

pψ,

L3 = pφ, 0551

�� � ��� 	 �� ����& �� ���MNO�1 �� L′
a �� �� La �� �U� � *�� ζ � y��g� �� ����& pζ ��

V�� 4 ��F�F � Q�#&�� � W�#f 	 0
@: � Y+R��R

La = [exp(φM3) exp(θM2) exp(ψM3)]a
b L′

b, 0561

�+"'� ���)� 4� 	 ��

L′
1 =−cosψ

sin θ
pφ + (sinψ) pθ + (cosψ cot θ) pψ ,

L′
2 =

sinψ
sin θ

pφ + (cosψ) pθ + (− sinψ cot θ) pψ,

L′
3 = pψ. 0571
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�+"'� L′
3 = 0 � j#" ?�&#& �� ��

pψ = 0, 0581

�+"'� !"��� J 	 #&r�g� � ��� 	 �� ����& �� <	 !� �� �� � j#" �

(pφ)2

sin2 θ
+ p2

θ ≤ J2. 0591

(φ, θ, pφ, pθ) ` F ���+��� � =�8)>� �� !�#�H� #(� ��  � '� �!-���JR � 	�
�� ��
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V′
SO(3) = 4 π2 J2. 0601
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N ′
SO(3) =

j∑
l=0

(2 l+ 1), 0611
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N ′
SO(3) = (j + 1)2. 0621
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V′
SO(3)

h2
∼ N ′

SO(3), 0631
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V′
SU(2) = 8 π2 J2, 0641
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N ′
SU(2) =

2 j∑
2 l=0

[(2 l) + 1], 0651

��:�� 	 *�� t��Z (2 l) ��

N ′
SU(2) = (j + 1) (2 j + 1), 0661
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